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] 100kN/m%E#B 2% — -~ = —|3mzBz% — ~ — — — | 100kN/mEB 2% — — ~ — —|[3mz8BZ 5 — ~ — — —
zh st 1.00 | 0.00 ~ 459 5726 | #hst | 000 ~ 159 1.91 9.67 zhust 1.00 | 5.00 ~ 5.10 5726 | #hs | 500 ~ 510 1.91 9.67
2 100kN/m%zE#BZ5| 1.00 | 000 ~ 216 133.60 |3m&EEZDE| — ~ — — — | 100kN/ Mm% %25 | 1.00 | 1082 ~ 2114 133.60 |3mEBZ% - ~ — — —
zhst 1.00 216 ~ Fhs | 0oo ~ 995 257 13.00 zhust 1.00 | 5,00 ~ 1082| 100.00| Fhs | 500 ~ 2114|257 13.00
3 100kN/mM%EBZS | 1.00 | 000 ~ 251 139.30 |3mEBZD| — ~ — — — | 100kN/mi%E#8Z% | 1.00 | 1055 ~ 2114 139.30 |3mEBZ% - ~ — — —
zhst 1.00 | 251 ~ 1029 100.00| Ths | 0.00 ~ 1029 275 13.92 zh st 1.00 | 5,00 ~ 1055 100.00| Thdst | 500 ~ 2114|275 13.92
4 100kN/m%zE#82% | 1.00 | 000 ~ 222 134.45 |3mEBZB| — ~ — — — | 100kN/mMiEBZz2 | 1.00 | 1057 ~ 1914 134.45 |3mERZD — ~ — — —
zhst 1.00 | 222 ~ 1woo| 100.00| FnLs | 000 ~ 1000|242 12.25 zh st 1.00 | 5,00 ~ 1057 100.00| Thdst | 500 ~ 1914 242 12.25
5 100kN/mM%E#8z25| 1.00 | 000 ~ 067 10997 |3mE¥EZZ| — ~ — — — | 100kN/miZEZ% | 1.00 | 1095 ~ 1317| 109.97 |3mEBZ% - ~ — — —
zhst 1.00 | 067 ~ 845 100.00 | #Fn4 | 000 ~ 845| 205 10.39 Zh st 1.00 | 500 ~ 1096 100.00 | Fhdst | 5.00 ~ 1517] 2.05 10.59
5 100kN/m%E#B 2% — -~ = —|3mzBz3 — ~ — — — | 100kN/mEB 2% — — ~ — —|[3mz#BZ D — ~ — — —
zhst 1.00 | 0.o0 ~ 748 95.58 | #hds | 0oo ~ 748 250 11.64 zhust 1.00 | 500 ~ 1003 95.58 | #hids | 5.00 ~ 1003| 230 11.64
7 100kN/m%E#B 2% — -~ = —|3mzBz% — ~ — — — | 100kN/m%EB 2% — — ~ — —[3mzBZ D — ~ — — —
zhst 1.00 | 0.00 ~ 261 34.25 | #Fhds | 0oo ~ 261|246 12.45 zhust 1.00 | 5.00 ~ 5.30 34.25 | Thids | 5.00 ~ 530 246 12.45
100kN/m%E#B 2% ~ 3ImEzBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBZD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3ImEBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zzh st ~ Zzh st ~ zh s ~ Zh s ~
100kN/m%E#B 2% ~ 3ImEzBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBZD ~
Zh st ~ Zzh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3ImEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zzh st ~ Zzh st ~ zh s ~ Zh s ~
100kN/m%E#B 2% ~ 3ImEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zh st ~ Zzh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3ImEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zzh st ~ Zzh st ~ zh s ~ Zh s ~
100kN/m%E#B 2% ~ 3ImEzBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBZD ~
Zzh st ~ Zzh st ~ Zzh s ~ Zh s ~
100kN/m%E#B 2% ~ 3ImEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBAD ~
Zh st ~ Zh st ~ zh s ~ zh s ~




